SITEID : SRI-AURORA (SRI International - Sesame Team, submission ID: SRI-AURORA_6)

Experiment ID :SRI-AURORA_MEDI11_MEDI11TEST_MEDFull_AutoEAG_c-LLAndConceptsLateFusion_1
Events Processed : E006 (Birthday Party), EOO7 (Changing a vehicle tire), EOO8 (Flash mob gathering),

E009 (Getting a vehicle unstuck), E010 (Grooming an animal), EO11 (Making a sandwich), EO12 (Parade),
EO13 (Parkour), E014 (Repairing an appliance), EO15 (Working on a sewing project)

Scoring Parameters
Value

Cost False Alarm

1

Cost Miss|Prob. of Target

Analysis Report

E006
E007
E008
E009
E010
EO11
E012
EO013
EO14
EO015

#Ref|
186
111
132

95
87
140
231
104
78
81

#Sys
31821
31821
31821
31821
31821
31821
31821
31821
31821
31821

#CorDet
137
74
126
72
61
82
186
95
64
52

80 0.001
#FA|#Miss| Act. PFA| Act. PMiss|Act. NormCost|Min PFA |Min PMiss|Min NormCost|Det. Score
1609 49| 0.0509 0.2634 0.8986| 0.0161 0.5108 0.7121 0.0428
1417 37| 0.0447 0.3333 0.8914| 0.0132 0.4955 0.6601 0.0167
2506 6| 0.0791 0.0455 1.0330, 0.0068 0.2348 0.3196 0.0435
1318 23| 0.0415 0.2421 0.7609| 0.0123 0.3789 0.5325 0.0273
1892 26| 0.0596 0.2989 1.0434| 0.0160 0.5287 0.7282| 0.0194
1200 58| 0.0379 04143 0.8873| 0.0219 0.5357 0.8089(  0.0299
1028 45| 0.0325 0.1948 0.6012f 0.0145 0.3290 0.5104] 0.0424
1439 9| 0.0454 0.0865 0.6531 0.0083 0.2596 0.3636| 0.0250
1489 14| 0.0469 0.1795 0.7653| 0.0149 0.3462 0.5318 0.0195
1949 29| 0.0614 0.3580 1.1248| 0.0105 0.5926 0.7240f  0.0223

PHiss {in %)

95

48

28

18

DET for SRI-AURORA_6 : SRI-AURORA_MED11_HED11TEST_HEDFull_AutoEAG_c-LLAndConceptsLateFusion_1

! ! I T N I I I
\ Randon Perfornance
AN Iso-cost ratio lines
\\ Birthday Party - E886 - Actual —C—
AN Hin . .
\\,_ IsoRatio=12,4875 ]
Changing“a vehicle tire - EB87 - Actual
\\\ Hin
AN IsoRatio=12,4875 |
Flash nob gathering - EBB8 - Actual — = —
. Hin ‘
\IsoRatio=12.4875 [
Getting a vehicle unstuck -\Eﬁgg = Actual —FF—
\\.. Hin v
IsoRatio=12,4875 v
Grooning an aninal - E618 - &al —— a
k ¢
-1 K IsoRatio=12,4875 \\0
§ ! | - Haking a sandwich - EB11 - Actual St
"1 Wl‘ 1 'l- Hin \\
N = ‘ : IsoRatio=12,4875 -
“. =iy . Parade - EB12 - Actual — 11—
— ‘Ili Hin .
' v IsoRatio=12,4875 o
X . X Parkour - EB13 - Actual —r5—
.| Y , Hin ‘
— “\ e IsoRatio=12,4875 a
T Repa e applia.ce - EB14 - Actual —F—
g -'k Hin '
1..'l IsoRatio=12,4875 v
Horkling on I.-
li ! IsoRatio=12,4875
! ! ! ! | i
A .2 .3 1 2 5 S 18 20 46 60

PFA {in %)



